
SUPPLIED HARDWARE

INSTALLING PANELS TO SHELVES

Panels:
• (2x) #4 3/16" Screws

Shelves:
• (4x) #6 3/16" Screws
• (16x) #4 3/16" Screws
• (20x) Washers

Kits:
• (4x) #6 3/16" Screws
• (16x) #4 3/16" Screws
• (20x) Washers

NOTE: These products are compatible with select Forward accessories.

1. Secure panel to shelf using (2x) #4 x 3/16” screws as shown. (FIGURE A)

NOTE: The (4x) #6 3/16" screws, (16x) #4 3/16" screws, 
and (20x) washers are provided with shelves and kits for 
equipment mounting convenience.

#4 x 3/16" 
Screws

PANELS KITS

UMS1-3.5

UMS1-5.5

UMS1-11.5

UMSFP1-1/8

UMSFP1-1/2

UMSFP1-1/4
UMS1-3.5K

UMS1-5.5K

UMS1-11.5K

SHELVES

UMS Series
Universal Mounting Shelf

Instruction Sheet

FIGURE A

I-00596 Rev A



Page 2

FOR UMSFP1-1/8 PANEL ONLY: Remove backing on pre-installed adhesive tape on the bottom of 
your UMSFP1-1/8 panel and carefully secure to desired shelf location. (FIGURE B)

INSTALLING PANELS TO SHELVES (CONTINUED)

FIGURE B
Adhesive 

Tape

UMSFP1-1/8 
Panel

WARRANTY

For warranty information, refer to http://www.middleatlantic.com/company/about-us.aspx#warranty

Corporate Headquarters
Voice: 973-839-1011 - Fax: 973-839-1976 - International Voice: +1 973-839-8821 - 
Fax: +1 973-839-4982 - www.middleatlantic.com - info@middleatlantic.com

Middle Atlantic Canada
Voice: 613-836-2501 - Fax: 613-836-2690 - ca.middleatlantic.com - 
customerservicecanada@middleatlantic.ca

Middle Atlantic EMEA Technical Support
Voice: +31 (0) 495 726002 - av.emea.middleatlantic.support@legrand.com 

Factory Distribution
United States: New Jersey, California, Illinois - Canada: Ontario - The Netherlands: Weert

At Middle Atlantic Products we are always listening. Your comments are welcome.

Middle Atlantic Products is an ISO 9001 and ISO 14001 Registered Company.


